Maths

Varied Fluency
Step 3: Add Equal Groups

National Curriculum Objectives:

Mathematics Year 1: (1N1b) Count in multiples of twos, fives and tens

Add Equal Groups Add Equal Groups
1a. Which number line matches the 1b. Which nember line matches the
number of windows? number of eyes?
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2a. How many wheels on 3 mopeds? 2b. How many lamp posts on this sireet?
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Which cubes match the calculafion? which cubes match the calculafion?
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3a. There are 2 laces on each pair of 3b. There are 2 chicks on each hay bale.
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True or false? True or false?
There are 5 laces in this shop window. There are 10 chicks in the barm.
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4q. Draw legs on the aliens to match the db. Draw sweels in the jar o malch the
cul-c:ul-:llmn -:m the nu rmikber inE. calculafion shown by the cubes.
&-&-&-6-8| [N 1]
e = l—
6 1 2 3 4 & & F B % 10 I I
Complele the number sentence. Complete the number senfence.
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Add Equal Groups

Add Equal Groups

5a. Which number line matches the
huni"'

)1

5b. which number line matches the
cookies? i
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£0. How many crayons in 5 packs?

Which cubes match the calculafion?
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&b. How many paints on 4 rays?
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Which cubes match the calculafion?

7a. There are 5 apples on each trep.
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Tree or false?

There are 25 apples in the crchard.
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True or falsa?
There are 40 jewels altogether.
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8a. Draw eyes on the monshers fo malch
the calculafon on the number line.
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Complefe the number senfence to
match.
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8b. Draw teeth on the monsters to match
the calculaficn shown by the cubes.

Ry, B, A, 2
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Complete the number sentence to
match.

+ + + =

]

4




Add Equal Groups

Add Equal Groups

#a. Which nomber line matches the
bunting?

#b. which number line maotches the
bunting?
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10a. How many paints in six growps of 10b. How many rees in len grovps of
fen? . five?
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which cubes match the calculalion?
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which cubes match the calculafion?

114a. There are 5 cub scouts in each fent.
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Tree or false?
There are 35 cub scouls on camp.

11b. There are 10 meires of rope in each
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Pan® o

12a. Draw spols on the ladybirds fo
match the calcvlafion on the number

ES T 211

o 5 11 15 m = x
Complete the number senfence fo
match.

12b. Draw fish in the fanks|to malch the
calculafion shown by the cubes.
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Complete the number sentence fo
match.




Yarned Huency

Add Equal Groups

Developing

Ta. &

2a. & wheels

Children fo choose 3 lots of 2 cubes.

3a. False. There are 5 pairs of bools 50 10
laces are in the window.

4a. 2 legs on each alien
2+2+2+2+2=10o0r3x2=10

Expected

5a. B

&4a. 25 crayons

Children fo choose 5 lots of 5 cubes.

7a. False. There are 4 frees so there are 20
applesin the crchard.

8a. 2 eyes on each monsier

222+ 2+2=10

Greater Depth

¥a. B

104. 40 painis

Children fo choose & lofs of 10 cubes.
114a. Trpe

12a. 5 spots on each ladybird
SEFELEFSFEFSYTI=-IDWNE XS =30

Varied Fluency
Add Equal Groups

Deyeloping

1b. B

Zb. 10 lamp posts

Children to choose 5 lots of 2 cubes.

3b. False. There are 4 bales of hay so there
are & chicks in the barn.

4b. 2 sweels in each jar
2+E+2=Eor2xiI=a

Expecied
5b. B

&b. 40 paints

Children to choose 4 lots of 10 cubes.
7b. False. There are 3 boxes 50 there are
30 jewels.

8b. 5 teeth per monsier

G+5+5+5 =2

Greater Depth
sb. A

10b. 50 trees

Children to choose 10 lots of 5 cubes.
11b. False. There are ¥ bundles of rope so
there is 70 mefres of rope.

12b. 10 fish in each tank

10+ 10+ 10 =30 or3 x 10=30



Reasoning and Problem Solving
Step 3: Add Equal Groups

National Curriculum Objectives:

Mathematics Year 1: (1N1b) Count in multiples of twos, fives and tens

Mathematics Year 1: (1C8) Solve one-step problems involving multiplication and division,
by calculating the answer using concrete objects, pictorial representations and arrays with
the support of the teacher

Add Equal Groups Add Egual Groups
1a. Marfin has 5 jars and he puts 2 pencils | 1b. The park has 4 ponds. Dave puts 2
in each jar. rocks in each.

3 1 1 8 Riee e

How many pencils does he have How many rocks does he have
aliegether? show your working. altogether? Show your working.
2+ 2 +2+ 32 + 2 = 2 +2 + 2 + 2 =

% |

2a. Jojo and Hassan have been counfing | 2b. martha and Eim have been counting

im 25 starfing from 0. in s starfing from 0.
lojo i | maartha
5 groups of 2 is When you count in 2s all
ﬂA equal fo 10. 53 your numbers are even.
3 J | S
: — _
Hassan Kim
. i youw count in 25 you rﬁ)
4 groups of 2is 6. L g can't go higher than 10. g
i
Who is comect? Explain vour answer. Who is comect? Explain your answer.
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3a. Look af the Mumicon and the number | 3b. Look af the cvbes and the number
senfence below. senfence below.
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2+ 4=8 6+3=9

Find and comect any mistakes. Find and comect any misiakes.
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Add Equal Groups

Add Egual Groups

4a. Dion has 3 ships and he puts 5 pirates
in each.
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How many pirates does he have
alicgether? show your working.
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4b. Alexa has 4 boxes and she puis 2
spiders in each.
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How many boxes does she have
altogether? show your working.
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sa. panyal and Theo have been countfing
in 55 sharfing from 0.

panyal [ ™
All of my answers will
ﬁ A\ be odd numbers.
- A
s,

All of my answers will
endinabforal

®

who is comect? Explain your answer.
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5b. Annie and Sonya have been counfing
in 105 starting from 0.

Anmnie

- L

| will not have any
numbsers smaller than
20

sonya

Iif | add one fo the tens
digit each fime, | am ¥
counting in fens.

Whao is comect? Explain your answer.

17

&a. Look af the Numicon and the nember
senfence below.

i B

54+5+5=20

g 20 (S0

2+2+2+2+2=8
Find and comect any mistakes.
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&b, Look af the cubes and the number
sentence below.
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1+1=2
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5+5=55

Find and comect any misiakes.
A

1




Add Equal Groups

Add Equal Groups

7a. Susie has six jars and she puts five
sweels in each jar.

100004

7b. Ellie has three frain camiages and she
puts ten blocks in each.

How many blocks does she have
altogether? show your working.

ga. Faul and 3ara have been counfing in
S5 and 10s.

It ~
Faul If | count 4 lots of 5 and

count 2 lots of 10, my
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answers are fhe same.
Sara
Iif | count & lots of 10 and
3 lots of 5, my answers
will be the same.

who s comect? Explain your answer.

8b. 3oraya and Aaron have been
counfing in 55 and 10s.

Soraya
| hiave counted 7 lofs of

5. My answer is bigger
thaon Aaron's answer.

_'_Hl'n.\_
Aaron
| have counted 4 lofs of .
10 5o my answer is the e
biggest.

Who is comect? Explain your answer.

9a. Look at the Mumicon and the
calzculation below.

i

10+10=2+2

Find and comect any mistakes.
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%h. Look at the cubes and the calculalion
below.

5+5+5=10+10
Find and comect any misiakes.




Reasoning and Problem Solving
Add Equal Groups

Ceveloping

1a. 10 pencils; 2+ 2+2+2+2=10

2a. Jojo is comect becawse 5 groups of 215
2+2+2+2+2=10
30.2+2+2+2+2+2=12

Expected

4a. 15 prates; 5+ 5+ 5= 15

5a. Theo is comect becavse numbers
ending in 5 are odd but those ending in 0
are even.

4.5+ 5+5+5=2002+2+ 2=k

Gregier Deplh

7O 30 sweels; 5+ 5+ 5+5+5+5=30
8a. Faul is comeci because & lofs of S5 is
the same as 3 lofs of 10.
S5+5+5+5+5+5=3 10 =10+ 10=30
Q.10+ 10=2+2+2+2+ZF+2+2+2+
2+ 2

Reasoning and Problem Solving
Add Equal Groups

Deyeloping

Tb. Brocks;2+2+2+2=8

Zb. martha is comect becauvse counting in
25 is counfing in even numbers only.
d3b.z+2+2=2

Expecled

4b. Bspiders;2+2+2+4+2=8

5b. sonya is comect because counfing in
105 only changes the tens column. Annie
has forgotten about ten.

db. 1o+ 10=20;5+5=10

Greater Depth
7. 30 blocks; 10+ 10+ 10 = 30

8b. Aaron 5 comect becawvse he has
counfed fo 40. Soraya has counted to 35.
fh. 5+ 5+ 5+5=10+10



Varied Fluency

Step 1: Count in 10s

National Curriculum Objectives:
Mathematics Year 1: (IN1b) Count in multiples of twos, fives and tens

Mathematics Year 1: (1C8) Solve one-step problems involving multiplication and division, by calculating the answer
using concrete objects, pictorial representations and arrays with the support of the teacher

Count in 10s Count in 10s
1a. § one demino has 10 spots, how 1b. if one flower has 10 pefals, how many
mamny spots do 4 dominces have? petals do 5 flowers have?
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Za. f one jar has 10 cockies, circle the 2b. ¥ one fray holds 10 paints, circle the
jars you need o have 30 cookies. frays you need fo hold 40 paints.
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3a. Complete the sequence o find the 3b. Complete the sequence fo find the

missing numbers. missing mwrn beers.
‘i" 40, 30, 20, . ) ‘I-;::’ o. 10, 20, . )
4a. Label the missing numbers on the db. Label the missing numbers on the
number line below. number line below.

L] 10 20 50 50 40 30 ]




Count in 10s Count in 10s

5a.  one packet of seeds has 10 seeds, 5b. f one packet has 10 biscuils, how
how many seeds do ¥ packels of seeds many biscuits do 10 packets have?

have?

BEERRRREE m s s oe s

oy |t .
&a. If one pack has 10 pens, circle the sb. If one box holds 10 toys, circle the
packs you need o have B0 pens. boxes you need fo hold 70 toys.
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7a. Complete the sequence o find the 7b. Complete the sequence o find the
missing numbers. missing nwm bers.

&0, FO, 80, .

1hF 8o, Vo, &0, . ) 1ﬁ?
| | I-'\-\.
8a. Label the missing numbers on the 8b. Label the missing numbers on the
number line below. number line below.

20 30 40 70 &0 70 &0 30
'I'r.? ':h?




Count in 10s

Count in 10s

fa. # one packet of pens has 10 pens,
how many pens do 8 packeis of pens

hawve?

¥b. f one packet of crsps has 10 crisps,
how many crisps do 10 packets have?

10a. ¥ one packet has ten seeds, how
many packets do you need to have

ninety seeds?
o

SHIK

10b. § one box holds ten toys, how many
boxes do you need to hold sixty toys?

11a. Complete the sequences to find the
missing numbers.

A.  tharty, forty., 50

B. ninety, eighty, 70,

11b. Complete the sequences to find the
missing nuwm bers.

A.  sixty, 70,  BO,

12a. Label the missing numbers on the
number line below.

100 | 70 sty

12b. Label the missing numbers on the
number line below.

sixhy




Vaned Flvency
Count in 10s

Developing

1a. 40

2a. 3 jars circled
Sa. 10,0

44 30, 40

Expecied

54a. 70

4a. & boxes circled
7a. S0, 40

8q. 30, &0

zreater Depth

Ta. 60

10a. ¥ packs

11a. & = &40, 707 B = &0, 50
T2a. B0, 70, 50

Vared Fluency
Couvntin 10s

Developing
1b. 50

2b. 4 rays circled
3b. 30, 40
4b. 20, 10

Expecied
5b. 100

&b. 7 boxes circlad
7h. #0, 100
8b. S0, 40

Greater Depth

. 100

10b. & boxes

11k, & = %0, 100; B = 30, 20
1Zb. 20, 30, 50




Reasoning and Problem Solving

Step 1: Count in 10s

National Curriculum Obijectives:

Mathematics Year 1: (1N1b) Count in multiples of twos, fives and tens

Mathematics Year 1: (1C8) Solve one-step problems involving multiplication and division, by calculating
the answer using concrete objects, pictorial representations and arrays with the support of the teacher

Count in 10s

Count in 10s

1a. Lee is counting in 10s starfing from 100
He shades all the numbers he lands on.

17
27
37
47

11
21
31
41

12
22
a2
43

EEEE
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17
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37
47
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I5 he comect? Explain your answer.

.
e
=

1b. =ia is counfimg in 105 sbarfing from 10.
zthe shades all the numbers she lands on.

1]2)|3|4|5|&[7|8|F
112 (13|14 15[ 1417|1817
2 |22 |33 25|28 |27 | 28|27
31 |32 |33 G35 |34 | 37| 38|37
47 |42 |43 4447|4847

HEEEE

24
34
44

Is she comeci? Explain your answer.

ToF

2a. Max is planfing seeds.

Each pack of seeds has 10 seeds.

E .
‘ SEEIE
E
Does he have enouwgh seeds fo plant 40

flowers?
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2b. Ccam is packing her toys.

Each box will hold 10 teddies.

» 4

Ve

» “

Coes she have encwugh boxes to pack 50
feddies?

&
g

1a:u\.'?

3a. Viv thinks the arow is poinfing fo 10

3b. Mo thinks the amow is poinfing to 0.

Is she comect? Explain how you know.

"‘..I.-"-"
hemed




Count in 10s

Count in 10s

4a. Fi is counting in 105 sharfing frem 10.
she thinks she will lond on the number 50.

12| 3|4 s5]& | 718|710
T 12[ 13| 14[ V5] 14|17 18| 1% | 20
20| 22| 23| 24| 25| 246 | 27| 28| 2¥ | 30
A1 32| 35|34 35|36 | 37|58 | 37|40
41|42 | 45| 4445|446 | 47| 48 | 4F | S0
Sl | 52| 53| 54| 55| 56|57 | 58| 57| &0
A1 | 42| 63| 4| &5 E& | &7 | EB | £ | 7D
FI| 72| 73| 74| 75| F&| 77| FB| 7| &0
41| 82|83|64|85| 84|67 | B8] 67| 7D
T F2| 93| 74| 95| %46 | 97| ¥8 | 77 |1008

Is she comect? Explain your answer.

4b_ Jim is couwnfing in 10s sharfing from 100
He thinks he will land on the number 17.

12| 5|A|S5|&|F|&|F |10
1112|1314 TS| 14| 17| 18] 17|20
21| 22|23 24 (25|24 (27|38 |27 |30
31|32 33|34 [ 3534 (37 )38 [ 37 |40
41|43 (43|44 (45 |44 (A7) 48 [4F | 50
51|52 53| 54 [ 55| 56 [ 57 | 58 |57 | &0
E1| &2 43| &4 (45 &4 (47| &8 |47 |70
FU| T2 T3 7475|7477 |78 |77 |80
61|82 (83|84 (85|84 (87|88 |87 |70
FUIF2(FI|FA(F5 | F& (57| 78 |77 |10

I5 he cormect? Explain your answer.

5a. Danika has & jars of cookies.

Each jar has 10 cookies.

Does she have encugh to give 1 cookie
o 42 children?

5b. Miss Bultercup has 7 paocks of pens.

Each pack has 10 pens.

Does she have encugh to give 1 pen fo
50 children?

&a. Mia thinks the armow is poinfing fo 70.

Is she comect? Explain how you know.

&b. Min thinks the amow is poinfing o 70.

a0 1o

Is he comect? Explain how you know.




Count in 10s

Countin 10s

7a. Mina is cownfing backwards in 105
starfing from 0. She thinks she will land
on the number 50.

A1 &2 [43 |44 | 45|44 |47 [48 |47 |70
F1|F2[73| 74| 75|74 |77 |78 |77 |80
81|82 (83 |84 |85 |84 |87 (88 |87 |70
FIF2[(FI|F4 |95 | P& |77 (78177 10]

Is she comect? Explain your answer.

7b. Neil i counfing forwards in 10s starfing
fromn 40. He thinks he will lkand on the
number 30.

1{2]13|4|5 | & 7|87 |10
T2 13| 14| 15| 14|17 | 18| 1% |20
21| 22| 23| 24|25 24|27 | 28| 27 [ 3D
S| 5253|355 ] 34|37 | 38|37 |40

I5 he comect? Explain your answer.

ga. Marvin has 80 botles of pofions.

He puis 10 polions on each shel.

-

Are seven shelves enouvgh fo hold all the
bottles?

db. Hicola has 100 rafle fickets.

she puts 10 fickels in each pile.

Are nine piles enocwugh to hold all of her
fickeis?

fa. Cara thinks the amow is poinfing fo 10.

#b. Tim thinks the arrow is poinfing to 0.

I5 she comect? Explain how you know.

Is he comect? Explain how you know.




Eeasoning and Problem Solving
Count in 10s

Developing

14. Lee is incomect. He has counfed on in
ones from 10.

2a. Yes, he has 40 seeds.

3a. she is not comrect because the missing
number is 20.

Expecied

44a. Fiis comect. All muliples of 10 end in 0
when starfing from 10.

5a. Mo, there are £0 cookies so she does
not have encugh.

&a. She is not comect because the missing
number is 50.

Gregter Depth

7a. Nina is comect. 3he will shade all the
numbers that end with 0.

8a. Mo, he needs & shelves fo hold 30
boffles.

fa. she is mncomrect becavse the missing
number is 20.

Reasoning and Problem Solving
Count in 10s

Developing
1b. =i s incomect. She has started from 1

imstead of 10.
2b. Mo, she only has space for 40 teddies.
3b. He B not comect becavse the missing
number is 10.

Expeched
4b. Jim is incomect. He has started af 10

and couvnted on ¥ more, instead of 10
more.

5b.Yes, she has encugh becauwse she has
70 pens.

&b. He 5 not comect because the missing
number is 80.

Gregier Depth

7b. Heil is incomect becauvse he is
counfing forwards so the numbers he
shaodes will be mulfiples of 10 greater than
40,

8b. No, she needs 10 piles to hold all of
her fickels.

#b. He 5 incomect because the missing
number is 70.




Varied Fluency -Making Equal Groups

National Curriculum Objectives:

Mathematics Year 1: (IN1b) Count in multiples of twos, fives and tens

Mathematics Year 1: (1C8) Solve one-step problems involving multiplication and division, by calculating the an-

swer using concrete objects, pictorial representations and arrays with the support of the teacher

Making Equal Groups

Making Equal Groups

1a. Tree or false?
There are 2 groups of 3 Aowers.

-

ek

WF

1b. Trve or false?
There are 2 groups of 2 pencils.

) .l

WF

2a. Are the grouwps equal?

Y
\ #,f /
W

WF

2b. are the groups equal?

© © Q

©

WF

iy

3a. How many more pencils do you need|
in pot & fo make the grouvps egual?

-1 B

Y

WF

3b. How many more sweels do you need in
bag B fo make the grovps equal?

g

&

2/

g

WF

4a. Which group is not equal to the
othiers?

4b. which group is not equal fo the others?

- X

VF




Making Equal Groups

Making Equal Groups

5a_Tree or false?
There are 3 groups of 4 apples.

Fg’?i I'.l="|l
- ¥ Ny

5b. True or false?
There are 3 groups of 5 sweels.

s [£#
&) &)

a"'-r .

:;- Are the groups equal? &b. Are the groups equal?
/f*\\/*\\,** RRFIEE
N j SAANGZ LA LT IER,
f:r -.-f‘ﬁr' WF

7a. How many more shickers do you need
on chart A fo make each chart equal?

7b. How many more oranges do you need
on plate B to make the grovps equal?

B A B
OO i
o) -
= —
1Ty v | To7 v
ga. which group is not equal to the 8b. which group is not equal fo the others?
others?
A *‘*‘ ¥ B ™ '
¥ A i i ‘ B

T ol ST "




Making Equal Groups

Making Equal Groups

Fa. Tree or falsa?

#hb. True or false?

There are 4 growps of 5 pencils. There are 5 grovps of 3 sweels.
# ” #
Cees | . .7

r

P

10a. Are the groups equal? 10b. Are the groups equal?
\‘. (e a O % %2 05| 2,2
't a» | » ®9 L 1 ...f
@DED @) G5 |34 33 3]

11a. How many more apples do you
need on plate A and plate C to make the

groups equal?

2T 228
S—

C

11b. How many more stars do you need on
the shield B and shield C to make the
qgroups equal?

*
* *
* *

12a. Which group is not egqual to the
others?

soel
A B

H.'
HJ' } il L J-l - H.
C D

vF

12b. which grouvp is not equal to the
others?




Varned Fluency

Malking Egqual Groups

Developing

1a. False. There are 3 grovps of 2 flowers.

2a. No. The first grovp has 2 and the
second group has 1.

Ja

40. B

Expecied

S5a. Trwe.

&4a. Mo The last grouvp only has 4.
a2

da. C

izreater Depth

¥a. False. There are 4 grovps of 3 pencils.

10a. Mo. The last grovp has &.
TMag. &a=2C =1
T2a. &

Vaned Fluency
Making Equal Groups

5b. False. There are 3 groups of 4 sweels.
&b, Yes.

7b.1

8b. B

Greater Depth

b. True.

10b. Mo. The last 2 grovps only have 8/the
first 2 groups have 7.

1Mb.e=2C=3

12b. C




Reasoning and Problem Solving -Making Equal Groups

National Curriculum Objectives:
Mathematics Year 1: (1N1b) Count in multiples of twos, fives and tens

Mathematics Year 1: (1C8) Solve one-step problems involving multiplication and division, by calculating the answer
using concrete objects, pictorial representations and arrays with the support of the teacher

Making Equal Groups

Making Equal Groups

1k, Johan is making 2 equal grouwps of 3.
wWhat combinafion of Numicon can he

use to make the second group?

1a. Sally is making 2 equal growps of 5.
what combinafion of Numicon can she
use o make the second group?

? 3. |

V7 -|

Zb. How can you make|these groups

2a. How can you make these groups

== e |
izl
A, B. .
1 < e .

3Ab. Hamy has 7 sfickers. Can he make 2

3a. Harun has 10 pens. Can he make 5
equal grovps of 4 shickers?

A /) | eSefe

Explagin your answer. Explain your answer.

= |7




Making Equal Groups

Making Equal Groups

4a. Jack is making 3 equal groups of 2.
what combinafion of Numicon can he

use to make the third growp?

o

Ty

4b. 3ara is making 5 equal groups of 4.
what combinafion of Humicon can she

uvse to make the Rfth grovp?

ssfSslSsiss

Y

I
]~

=]

5a. How can you make these growps
below equal?

& E. . O

o
1A

F3

5b. How can you make these groups
below equal?

B. C.
ol
L

”

&a0. Eosie has 14 sweels. Can she make 3

equal grovps of 57 :

o

Explain your answer.

&b. Car has 17 marbles. Can he make 8

equal growps of 27
fee® ©
€ e
v @ «
€ ¢¢ ¢ ¢©

Explain your answer.

e _




Making Equal Groups

Making Equal Grouvps

7a. Tia is making 4 equal groups of 7.
Whal combinafion of Numicon can she
use to make the third and fouwrth growp?

g |

7b. Tim is making 5 equal growps of 7.
What combinafion of Numicon can he

vse to make the fourth and fifth growp?

D%Bj? ?
(X

8a. How can you make these groups
below equal?

wn-.

FE

8b. How can you make these groups
below equal?

—

P
il e
|

L

fa. Tammy has 24 apples. Can she make
4 equal grovps of 57

DODDDIDDD

DODDDIDDD

DODOIDIDD
DD

Explain your answer.

A
ef

fb. someena has 23 flowers. Can she
make 7 equal growps of 37

% B 3 8 3% AE
B B 3 8 3% 3E
% 3 3F 38 3% 3E
3 BE 3F 3F 3F

Explgin your answer.
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Reasoning
Malking Equal Groups

Developing

1a. sally could use; 5, 3and 2 or 1 and 4.
2a. Move 1 apple frem plate B to plaie A
3a. Yes. He will have 5 equal grovps of 2.

Expecied

4a. Jack coulduse; 5. 4 and 1, four 1s or 3
and 2.

SO A=1.B=1.D=2

40. Mo Rosie can't make 3 equal grovps of
5. She will have 1 sweel left over.

izreafer Depth
FoTiocoulduse: sand 3or 5, 2and 2 or

4,2 2and 1.

8a. Move 2 oranges from the bowl A to
bowl B. Move 1 orange from bowl C o
bowl D

¥a. Tammy can’t make 4 equal grovps of
5. She will have 4 apples leftover.

Vared Fluvency
Making Egual Grouwps

Developing

1b. Johan could vse; 3 or 2and 1.

2b. Move 1 sweetl from bag A to bag C.
3b. No. He can onby make 1 grovp of 4.

Expecied

4b. sara covld vse; 4. 2 and 2 or 3 and 1.
Sb.E=2 C=3.D=1.

&b. Mo Car can't make 8 equal grovps.
He will have 1 marble left over.

Greater Depth

7h. Tim coulduse: dand 1or Sand 2 or 4
and 3.

8b. Mmove 1 star from flag B fo flag A. Move
1 shar from flag C to flag D.

¥b. sameena can't make 7 equal grouvps
of 3. She will have 2 flowers leftover.




English

Task 1 — Listen to/read the story of The Very Hungry Caterpillar read by Eric Carle, the au-
thor of the story. https://www.youtube.com/watch?v=vkYmvxPOAJI

What words could be used for each of the foods the caterpillar ate: Draw a picture of each
food and surround it with descriptive words, e.g. to describe the apple you could use the
words, juicy (joosee), red, tasty (taystee), etc. (Don’t expect these words to be spelt accu-
rately, just encourage good use of phonic knowledge). Try and think of some extra special,
descriptive words. You should also try to include some alliteration — that’s when several
words begin with the same letter sound, e.g. red, rosy, ruby... Try it yourself!

Task 2 — Watch the story being told again or read the story again. Today, we’re going to
think about the caterpillar and the butterfly in the story. What words could you use to de-
scribe the caterpillar and the butterfly? Like yesterday, draw each creature and surround
them with descriptive words — remember — these are called adjectives. Share your picture
and adjectives with an adult. Can they think of an extra adjective to add to your work?
What does their word mean? Ask them to explain it to you.



Task 3 — You are going to rewrite The Very Hungry Caterpillar using your words — this task is
expected to take 2 or 3 learning sessions. Remember that your sentences need to make

sense, begin with a capital letter and end with a full stop. Also, work hard on showing your
best handwriting. Think about the story pattern, e.g. On day one, the Very Hungry Caterpil-

lar ate a red, juicy apple. Remember to include your special adjectives for each food and
for the caterpillar and butterfly.

Task 4 — This term in guided reading we will be finding out and using the skill of prediction.
We would like you to use this skill the next time you share a story with your parent/carer.
Choose a book from your book shelf and when you have read a little bit of the story or you
have listened to a parent or carer read, make a prediction about what you think will hap-
pen next. When you make a prediction, you make a thoughtful guess about what might
happen next by being a detective and thinking carefully about what has happened in the
story so far. Try it! See if you are good at making predictions.

Task 5 —Sit and look at a keyboard on a laptop, tablet or desktop computer, sing the alpha-
bet song and while you sing find each of the letters. Ask a parent or carer to show you how
to make upper and lower case letters so you can type out the alphabet, e.g. Aa Bb Cc...



Religious education.

Before we went into lockdown, we had begun a new RE topic called: Questions about God:
How do my ideas about God compare with my friend’s? The topic will help us to compare
and consider our ideas about God. Some children may have very clear ideas, others may
not. We began by thinking about what we thought God might look like by drawing a pic-
ture of him. The children had many different ideas and reasons for their ideas.. You could
try this at home too. Ask your son/daughter to draw a picture of God and ask them about
their picture. Remember no one idea is absolutely accurate or correct. Around or below
the picture encourage them to record sentences about God, e.g. | think God is kind. The
children shared some wonderful ideas when we were together. Have a go and see what

thoughts they have!



Handwriting.

Last week you were asked to find a poem about an insect. Using your very best hand-
writing, write the poem out and decorate the page with a picture or patter. Remember to
sit your letters on the lines and make sure tall letters and tall, long letters are long and
short letters are short! Try your very best. Have some peaceful music on to listen to while
you write out the poem.

Maybe you could send it to someone special, maybe a grandma or an uncle. You can access
the on-line website https://www.letterjoin.co.uk/log-in.html to complete handwriting ac-
tivities and to practise the cursive letter patterns.

Please continue with letter join practice if you can.

There are two log-ins that can be used, one for a desktop computer and another for a tab-
let.

Desktop — username: ak0599, password: home

Tablet — username: ak0599, swipe code: L



Topic.

Name. Date

What do plants need to grow?
Cut out the 4 things that plonts need. Paste them In the spaces below.

www . cleverlearner.com

Toothpaste : Q\)a E} | :



WB 27.4.20
LO:TDM@%WQMWEW.

What do plantd need?

................

Why do we need planti?
Which plante do we eat?

Plant rame | Can we eat it? Dy bk 617
T‘ Qﬂ 2@ @ea
g o
o P@ee
t v &

o v | oo




WB: 27.4.20

LO: To find out how silk is made.

What is silk?

Where does silk come from?



Enjoy and have fun.

Any questions or comments please email us.

Mrs Emma Neville — eneville@deanshanger.northants.sch.uk

Miss Nico Brooks — nbrooks@deanshanger.northants.sch.uk



